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The voltage across a capacitor cannot change instantaneously.
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The current in an inductance cannot change instantaneously.

o L, L, Ly
o Y Y Y V=V +V2+- -+ W
+ l‘ - + l' - + l‘ - - . . .
1 2 N L (/I+L (/1+ v, di
: = L1 2=+ N
‘ dt dt dt

O N ([I
_ I ai
b (Z N) dt

n=1

]

CAPACITOR INDUCTOR \/

e



CAPACITOR

INDUCTOR

\=AZe

+ u() -

o—f—o

i(t C

)
i) = Ci\'(l) é}g 5(“}‘. ﬁ) i(t) =

w4

v 40

/. i(t)dt + v(to)

SERIES OR EQUIVALENT
PARALLEL CIRCUIT CIRCUIT EQUATION | (+) - W C‘\ q
+ v -
+ o() -
PR |
p— — L Leq = 1 \/ ( ¢
i) i) Lo _
) T
+ v(?) + o) - \(:UC q-
Ot YY" Y __ Y Y Y _, o—t" Y Y Y _, Leg=L, + L
- L L - L
i) ' 2 i) T
C
[ + o) -
o—+¢ & ——— o—|(—o Ceqq =C1 +C2
i(r) IL i(r) Ceq
10
C, A
+ (1) + o) - l
o —f —f— ¢
i(1) & G i Ceq — =

is = 100 sin 4007 A
(=7 H

AN TR ANTE TG

~m

Ty Nala\ S;"\(VB\(—\-((J-W
:%( ‘DSLE& +\£i.|.ﬂ



{ is = 100 sin 4007 A ’
[= 7 H

L\LLVES: ST ANT\E T o

_ L
Vs s‘?
Kepas
Mook ¥ ENTANRN ¢34
? éNe?rgw\s_ I o) Y\‘%‘(-MST-@

[
v(1) _F,/,(, i(t)dt + v(tg)



= Ground vl vl 2

HMATON 1A SHMATR

“/ l27t

0):27;)”:?

N

. Hertz. /L'—/\

A phasor is a complex number that is used to represent the amplitude and phase angle of a
sinusoid. The relationship between the sinusoid and the phasor is described by

Acos(wt+0) < A Q (10.3-1)
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The impedance of an element of an ac circuit is defined to be the ratio of the voltage phasor to
the current phasor. The impedance is denoted as Z(w) so
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